Multiplication (With Carry over)

. 26x3=

2. There are 48 apples in 1 box. How many apples in 3 such boxes?

Answer:

3. Multiply and carry over

37 x4 =

4. Tick the correct product

56 x2=

(a) 102 C]
b2 ()
9us )

5. Match the multiplication with answers

()43 x2 (i) 156
(b) 24 x3 (i) 86
(€)39x4 (iii) 72

6. Multiply

4 5

x2 3

7. One crate has 29 juice boxes. 4 crates =

8. Multiply and check

38x2-=

9. A baker bakes 47 cupcakes in a tray. He uses 3 trays.

Total cupcakes =




N¥

0.

A
g o

A

;‘. 10.Fill in the blanks
‘ﬁi 42x3=___
40x3=__
2x3=__
Add all =

11.Circle the correct product
35x4=
(a) 140
(b) 120
(c) 160
12.Solve using carry over

68 x 2 =

13.Each bus carries 36 students. How many students in 5 buses?

Answer:

14.Multiply using place values
56 =50+6

(50x3)+(6x3)=

15.Choose the correct match
29x4 =
(a) 116
(b) 96

(c) 108




